Math 150   Sample Final Exam   Fall 2002

1. Graph the conic section   
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 . Determine the foci, vertices and asymptotes.

2. Solve by hand:   
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3. Today the population of a city is 1500. In 3 years the population is 1700. Assuming exponential growth, what is the population 5 years from now? When will the population reach 2000?

4. Sketch the complete graph of the curve given by  
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 . Find a rectangular-coordinate equation for this curve by eliminating the parameter.

5. a) Find  
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 by hand; explain!   b) Find the vertical asymptote of the graph of  
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6. Given  
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 and the zero  
[image: image8.wmf]i
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, find the other zeros of  f  and factor  f(x)  completely into linear factors.

7. Solve for x:  
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8. For  
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 , find the difference quotient  
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  and simplify.

9. For  
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  , determine the intercepts and any asymptotes.

10. Express the volume  V  of a cube as a function of its surface area  S  .

11. Sketch the graph of  
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 ; describe its end behavior and label the key points.

12. For  
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  and  
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  , find  
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  and  
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13. State the quotient and the remainder when you divide  
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14. Find  
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  for the function  
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  . Find the domains of both  f  and  
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15. A field is bounded on one side by a river. The field is to be fenced on three sides to form a rectangular enclosure. If you have a total of  584 m of fence, what dimensions will yield the largest possible area? How large is that area?

16. Solve for x:
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17. Use the given graph (see below!) of the function  
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  to sketch the graph of  
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 . Give a detailed explanation!

18. Divide by hand:  
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19. Sketch the graph of  
[image: image27.wmf](

)

(

)

4

8

log

-

-

=

x

x

g

 by hand. Label the key points, any asymptotes and intercepts.

20. Find the complete solution of the linear system, or show that it is inconsistent (you may use the TI-83, but you have to describe all the steps you take): 
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